
 

 

Řešení: Algebraické dlaždice – mnohočleny 

Sečtěte: 

1. (𝑥2 + 4𝑥) + (𝑥2 + 5𝑥) = 2𝑥2 + 9𝑥 

 

2. 3𝑦2 + 𝑥 + 𝑦2 + 2𝑥 = 4𝑦2 + 3𝑥 

 



 

 

 

3. 2𝑥𝑦 + (2𝑥2 − 𝑥𝑦) − 2𝑥2 = 𝑥𝑦 

 

4. (𝑥 + 2𝑥𝑦) + (−3𝑥𝑦 + 5𝑥) = 6𝑥 − 𝑥𝑦 

 



 

 

 

5. (3𝑥2 + 𝑦2 − 𝑥𝑦) + (𝑥2 − 5𝑥𝑦 − 2𝑦2) = 4𝑥2 − 𝑦2 − 6𝑥𝑦 

 

6. (𝑦2 + 3𝑥2 + 𝑥𝑦) + (2𝑥2 − 5𝑥𝑦 + 𝑦2) = 5𝑥2 + 2𝑦2 − 4𝑥𝑦 

 



 

 

 

Odečtěte: 

1. (2𝑥2 + 4𝑥) − (𝑥2 + 5𝑥) = 𝑥2 − 𝑥 

 

Po změně znamének (mínus před závorkou): 

 



 

 

 

2. (2𝑥 − 3𝑥2) − (𝑥2 − 5𝑥) = −4𝑥2 + 7𝑥 

 

Po změně znamének (mínus před závorkou):  

 



 

 

 

3. (4𝑥𝑦 − 𝑦2) − 𝑥2 − 5𝑥𝑦 = −𝑥2 − 𝑦2 − 𝑥𝑦 

 

4. 4𝑦2 − 𝑥2 − 5𝑥𝑦 + 2𝑥𝑦 + 2𝑦2 = 6𝑦2 − 𝑥2 − 3𝑥𝑦 

 



 

 

 

5. 𝑥2 − 5𝑥𝑦 + 3𝑥2 − (2𝑥2 − 3𝑥𝑦) = 2𝑥2 − 2𝑥𝑦 

 

Po změně znamének (mínus před závorkou):  

 



 

 

 

6. (5𝑥2 + 2𝑦2 + 𝑦𝑥) − (𝑥2 − 𝑦2 + 3𝑥𝑦) = 4𝑥2 + 3𝑦2 − 2𝑥𝑦 

 

Po změně znamének (mínus před závorkou):  

 


